APCSA

March Examination

Answer the following problems, documenting your solution using nouns, verbs, and –ly words.

1. Modify this data file to make the pond below. Prove it.
bounded 12 12

SchoolFish 5 5 North

SchoolFish 5 6 North

SchoolFish 6 6 North

SchoolFish 6 5 North
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2. You are testing a BankAccount deposit method. What could be a boundary test case?
3. Given an array list recList, give the code that will retrieve the first object in the array list?

4. An array list has 20 elements. What happens if you try to access position 30 in the array list?

5. What statement can you use to get the number of elements in the array list, bankList?

6. When using parallel arrays, what must be True for the values in all of the arrays?

7. Given the array definition below, write a Java method that returns the subscript of the first position of the array x that contains the value 10. If no position contains the value 10, return a value of -1.

int [] x = new int [50];

8. Write the Java code to create an array called "odd" and initialize it with the first five odd numbers.

9. Given a two-dimentional array

int[][] data = new int[5][10]

How do you access element in the i row j column of the array?

10. What is questionable about the style of the code fragment below?


public void deposit(double amount)

{

    amount = balance + amount;

    balance = amount;

}


11. What is prefixed by its class name or by an object reference, such as Math.sqrt or other.balance?
12. What does this code segment do?

{

        Locatable[] theObjects = new Locatable[numObjects()];

        int tempObjectCount = 0;

        for ( int r = 0; r < numRows(); r++ )

        {

            for ( int c = 0; c < numCols(); c++ )

            {

                Locatable obj = theGrid[r][c];

                if ( obj != null )

                {

                    theObjects[tempObjectCount] = obj;

                    tempObjectCount++;

                }

            }

        }

        return theObjects;

13. What is wrong with this code segment?

private static final int ENV_ROWS = 5;       

    private static final int ENV_COLS = 5;       

    private static final int NUM_STEPS = 15;      

    private static final int DELAY = 1000;         

    public static void main(String[] args)

    {

        BoundedEnv env = new BoundedEnv(ENV_ROWS, ENV_COLS);

        Fish f1 = new Fish(env, new Location(2, 2));

        Fish f2 = new Fish(env, new Location(2, 3));

        Fish f3 = new Fish(env, new Location(5, 8));

David A. Young
page 1
03/12/2007

